V1P
value={V_s}
dc=0
dcvar=0
noise=0

scP - inP

R1P
value={R_s}
noisetemp=0
noiseflow=0
dcvar=0

R2
value={R_a}
noisetemp=0

noiseflow=0
dcvar=0

R1IN
value={R_s}
noisetemp=0
noiseflow=0
dcvar=0

OlpP
OPA627_A0

fbN

scN - inN

O1IN
OPA627_A0

.param R_s=50 R _a=15R b=2740 C_d=1n C_c=2n A0=1M

C2P
t
outP ] +H D
R3P
value={R_b} value={C_c/2}
noisetemp=0 vinit=0
noiseflow=0
dcvar=0
_1t* a
——  value={C_d}
vinit=0
R3N
value={R_b}
noisetemp=0
noiseflow=0
dcvar=0 C|2i\|
outN
)

value={C_c/2}
vinit=0



